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Which group should pay fewer taxes?

A The rich (more than $350,000 per year) I 36
- ———

B Upper-middle income (between $100,000 and $350,000 per year) I 24

C Middle income (between $50,000 and $100,000) l 76

D Lower income (between $30,000 and $50,000) I 64

E Enerable households (less than $30,000) - 238

q‘wm MJ\‘\'.)



Lonneck Yoy X dueision Yo Nz AE
CD‘P'\'\'::A Vi Give Yox oS Yo lowr-incoma Uovtedds
E@\L&\"\‘:
i '.Bc's ?.n-t‘wu‘\ﬁﬂ\n. WNCAL G AR [Ya W’\M {'\C-o.m..\
I income = SO\AI«jr y Nexes * “'\\‘I‘ﬂ’
- gfa\s.*\:gr\ % \I“'T YodcvA s ODASUMQ“M

2 High mpe ™ 1pe 0.98 > Tox Molivpbe = 20098
W o ] ~0:98
wAT v = ~\A
e 4
Cosk? AV = —MmRC AT
1~ MmP6
L‘\MA\\“{O« o h S‘ob‘. '% LT
O?ho,‘”’)_', Tor CotS o Yua Fidn l \Mﬂ\m"'mu»m
Roahls:
> Qmcl| bosine st S hine ana Larkavs
7 Tonconw 7V millvon T bodeeoh Vowes ? *3§Ot&
Cogts’
- \S*f'o%&ﬁgvmg‘\“‘ef\ *\'\b:\" C.Df‘?@lu*\:bni Y R ﬂ“‘b N arkavs

2 MRS S M\ﬂ*{“\s& loo® wec = 0.5, ox =-~O:S

&iﬁ@s‘\‘ (ovarn Lot fiSced @ah't:)
= \/wn Lbs\‘ﬂ



Er.onomCs C.I‘.'s&s‘a‘ gsc_c& PD\(GQ \$ W\-&A cbg\b%
Reilowt BIUD Y IS bilion 1 n qrabt for i Treaasory

Amary cen Qaiaveshmnl 3 Q—awu} Ack (Actn)

= Shmojus M

Ac>o , ATcO
A= Soo bil AV = -3co i)

- -\ 2 o o) = \Ted)
| -Mmp&
\ ANV Ve 005

AY = TARe L~3ool=.;ﬂ2 ~ois (~Joo ) = Jooeil

| ~™MpL | ~2.¢

Toted AY = 1300 ol = (+32 Trealljon

Covia -1\4 Yondemin StHmolov s

Macan 20007 CARLES Ackr D 2.2 Tril\Wsn
~ ST'\\\'«b\a
bcc.embo\ L2220 ~ 4 Ve O Vi I\

Moran 202\% ~ L-O0TreW\1o-~

Cor u«..‘ N=>S0 or AT €O MOk ba ?w-k(v

LoLo’ DT > 33 Tillvon
W2L\V. OT D 2. FTrolen

202 7’V 3T defvedy

2029 \. A7

20247 . 831

AO0LS ' Annvclrte\ @ote = * 2 .ST



DefNekr = &G~V So ’ G- Ffl\ Swuﬂmk s@....k."
Dy 2 Vakt
Delet = Som o} Dahiehs (G~T)= é.“—""T)

3 e Exam?\a.-'
Vehk = (G, - T * (6-T) *» (6,~-T)
= SO -3 Yo Yo ) = “—_l's
N
VWA = Sonxwoco-~AS= "Fs Suf(‘;\e-s

$30.85 Trvllio~ Babt in W VS
LDM 2Dewt Jda'ot &O\'Uc\\iv\ M\\'J S?
;ao\‘A woewt Hie WoXioAeh DA

Ceck T2 VS Gov'k DoES MOT ouwe e 8T
P nderg )

22.€T +47T
Tokn Vel = PoblWd Dk + ::r\'\fo\%wanm-s‘\v\
2 BOC/’-""‘& \&'D\CUAQS

from otsda > &d(e-—-"\\ oM
H S°V‘ t o Ahere AT ke

= Socsed Leconty

Trot Onu,

Pensisa w‘,

DC«P\" Cv& Mo



Qog\- "2 e Do VOT e %o‘ecu:b:ackd.n-k‘*

éa.“‘ﬁm%: Cvo\l"\‘ \Qbﬂw &\ mi\ion STDM \endavss
= welt

C:ouuf\mn-n‘t M;i Vveinsd\eo gof' %o»l'\‘ \'D Oorr o

gl uasameEREanY
M\ /_\ > Tncantivite
X % investor o
lend
,T.rwu-\\"/ N :
L'gars 2
7\ \"\etes X on
ot

LA e yeor, invadior
LIens "\ m%\ Lo
D Gov'\ gk W R\
2 oW\ ocwe~ Aot
- ﬁ‘ruk\'mﬂ AN NRad
ir\w.s\'wy

C’W“nm& N o\ Ovesr delt
oS \oas S \Avestor be\lause 3&\4.9 voh
dsq;\- ?(‘A(C\ Dl



Do Soa"\‘ RS Sh*":)c]\& o S & Lﬂn&.u?.
How does e %ov'* v indeaest e~ datt?
Td& QQUMU& ‘c

P\,‘o\s‘s Nalok = \\ M) Thakeassh Late = 57,
NOW\CI\A S = k S wmil\isna (Frcome)

T deness ?co.‘xman’r = lﬁ\ﬂ-ﬂss’f Yol A DXkt

e = 0.6Sx \ud= %SO, a0

AS \c«cs as 3oV')“ Ry s SO 1n Aex ewenuc
Car bl t millio~r Aot (q&&“'\o%

Nox o o rehed Wk MS Sow

Tor Qwvenue = T\rresy ?c-va\’}
Tox Qadel * NVominel GDR > Tdenust Ryt
(Mcr\-\ To»x Qada - L\\%s\ @a.-\rwsk
3 »
Nw. b\e
- 555, 0O w (0o = \70

S 00p 53D

\0O




Yo \
Nowe (rw Loo, 009
W ok \oO, 0D
TR Qede 57>

R‘c'ua. Lﬂ-v'-&\ [OO

M~ TM (Lc\-&%?

Ne &

Yoo, a0°
100, 50 O
S7o

20

17\ Mmin. Yox frcde = 1ad . Ade + bt
% O

N\NOWM ¢ C:“P

S? x (00, 9D
200, 00O ARma
=a.S7,

Yo LV pin: fex e ™ 57 ¢ 200 09O N

200, OO

—
-~



